BECK

THIS DOCUMENT IS A COPY
AND IS NOT THE SOURCE
9 27 /32 DOCUMENT. INFORMATION IS
I SUBJECT TO CHANGE
HANDWHEEL NAME PLATE — [245] T e
EAROLD BECK AND' SONS.
1” N.P.T. CONDUIT SN e SHANGES To THE
: ! SIGNAL CONNECTION ( | CONTACT A BECK SALES
T |'::|:|| |,:.::.:|, DRAWING IS REQUIRED.
5 1/8 [206] wAx e ° f R T
(ALLOW 3" [76] FOR REMOVAL) - . . ? 2 = . .
- 4 25/32 I e )
‘ * | oo S/ }
4 7/16 k | ' (7 ol T |f
N - o [ O =
18] | LN o e} [6;] q - I
‘ i ’ GEAR MODULE ASSEMBLY /
1”7 N.P.T. CONDUIT
1.9561-83% DIA. POWER CONNECTION 10
| 500793 Din [49.6827152] [254]
1[51/}8 [38.1007833] DIA. ' T SASIC CONTROL DRIVE
COVER, TERMINAL BLOCK - B
EXTERNAL WIRING SASIC CONTROL DRIVE WIHTH
COVER, ELECTRONIC VOUNTING HARDWARE
SIGNAL RECEIVER ‘” = !
( )
MOUNTING HOLES — T ==
3/8—16 UNC—2B X 3/4 [19] DEEP ) — . .
(4) HOLES EQUALLY SPACED BELE I AN 1 rF ?
ON A 5.000 [127] DIA. B.C. =
] il N N N N _ _

[454] & J
< T —
\ QO
|
4 7[/11:65}MN. C}%%@
Q1O

I

COVER, POSITION __ 5 5
SENSING DEVCES\F | §
N 0 T
—— S N
| d L) [140]

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
i /2 | i fim— |
| A
17 7/8 | BEGCM

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

o im0
N | J l v %
TOLERANCES:
24 0 124 OUTLINE DIMENSIONS +1/4 [+6]
[311] [ 324] MOUNTING DIMENSIONS +1/16 [+2]

(ALLOW 6” [152] FOR REMOVAL)
ALL DIMENSIONS ARE IN INCHES AND [MM] UNLESS OTHERWISE SPECIFIED.

THREADS AND TAPPED HOLES ARE SPECIFIED AS UNIFIED THREAD SIZES ONLY.
RECOMMENDED SCREW TORQUES CONDUIT PIPE THREADS PER AMERICAN NATIONAL STANDARD TAPER PIPE THREADS (N.P.T.)

SIZE TORQUE | TORQUE _

(IN.) (LB—FT) (Nm) SECK D
COVER SCREWS 5/16—18 10 14 TORQUE APPROX.
GEAR MODULE SCREWS 5/16—18 10 14 DRIVE RANGE WEIGHT H::T\RO:-DBEClgT&S?NSINC
MOTOR SCREWS 1/4-20 6 8 MODEL NO. TITE: |
50DY SCREWS 3/8-16 20 27 125 TO 250 LB.—FT.|115 LBS. OUTLINE DIMENSIONS
S0DY SCREWS 1/2-13 20 53 11—=260 BECK 11-260 DRIVE

169 TO 339 Nm o/ KGS.

CONTROL END COVER SCREWS | 5/16-18 10 14
COUPLING SCREWS 5/8—18 170% 230 *MAY VARY PER APPLICATION. REFER TO VALVE | @ 13 DWK 11-7-07 NONE PRAWING TO: RV
MOUNTING BRACKET SCREWS 3/8-16 25 34 MOUNTING SPECIFICATION SHEET SHIPPED WITH YOUR | THIRD ANGLE GMD 1112.07 18-0260-01o | H
(FLAT HEAD) DRIVE. ! PROJECTION APPROVED: o, SHEET NO. 1 OF |

18-0260-010




